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000000000000000 (PM: Phase Modulation), 00 000000000000, 00
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goooooobooobgg
s(t) = Accos(2mfet + o(t) + ¢c) (4.21)
gR[ejsb(t) - Aed?miettoe]
0000000000 ¢()00000O0O0000O0O00000O0O0O0oooouoooo
1d
i(t) = ——=02nf:t t
fi(®) 5 7 (2 fet + (1))
1 dg(t)
= fot——2 4.22
f+27r dt (4.22)
oooooao
googd

0000000 () D0OD0OO0O0DO0O00Om(#)0000000000000000000000O0O

o(t) = kym(t) (4.23)
oooooOoOoOoOOOO0Ofk,0000mMOBODOO
Admax = kp max[|m(t)|] (4.24)

0000000000000 0000000 (modulation index) 0O 00O
00000 m(@)0000000000000000O0O
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fil) = fe+ 5 (4.25)
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000000000000000000000000000000000000m(#) 000000
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1d
Jit) = fo = 5= 0(8) = kym(t) (426)

00000000000k, 000000
Afimax = kg max|[m(t)]] (4.27)

000000000000000000m()00000000000WOOO0OO00O0000O0
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00000 m(@)000000000000000000O00
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O000000A¢mx =k, 000000000000000000
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oboocooooobooooonog
0000000000000 ¢(t) 10000000 (422)00
s(t) = A.cos(2mfet + ¢(t))

A cos 2 f.t cos p(t) — A. sin 27 f.t sin ¢(t)
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oooooooJ,)00r0000000000000

2 (D4
RO = T

ky

2np)

O000D0oDoo0O00000 k0000000
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000000700000000000000000(Carsond0O

5§ <<10000sind~0,c0s6 1000000000

SAMOD0D000O00 (¢(t) 1) 00000000 (000000000)0000000000PMOO0OOOO0
o000 (0 (431)000000000000000000000000000

"m(t) = cos2mfrmt 00000 2(kp + 1) fm

27



4.2.4 00000000000
0000000000 00000O000000b0 000000000 0o0o0oOoooOOoOoOooon
000000000000000000000000000000000m(G) 000000000
000000000000 000O0O00000O0b0000O0O0b0 000000 Oo0o0oOooOoobooa
00000000000 m@) 000000000000
00000000000 0000O0O00000O0b00000O00 00000 oOooOoooOoOooOoon
00000000000 00000b0 000000000000 oObO0oD0ooOooOobDOoo
Armstrong0 00 0000000000000 OO0ODODOOOOOOOOOOOOO
sinw ¢t 90phase cos Wt
shift

Car = FM signal

arrier signal

signal | sinw o1 __| Adder g

source
° T "
m(t) l To renjamder Blanced ' o '
T of oscillator m()sinW ¢t= B sin Wt sinw ¢t

. m(f)= 3 sinw ;mt —emodulator]

0419: 000 (00O0O0O0OO) 0 4.20: 0000 (Armstrong O )

4.2.5 U0O0O0OOOOO0O0O0

00000000000000000000000000000000(@U00000oooo0n
0000)00000000000000000000 (0000000000 0000000O00
0000000000)00o0000o0o0o0UoooUooooUooo
ooobOooboooooobOoooboooboooooooboooboooon

O

oooooooooogd
000000000000 0000000 (Phase Lock Loop:PLL) D0 O0O0O0O0OO0OOOOODO
0000000000 0D0D0o0000oo00o0o0O0000o0o0000oo00000oDoDOO0n Loop
Fitee 00 0000000000000 0OO0OO00DOO0O0OO0O0OOOO0OO0OO(ODOO0OO)00O000OO0O
Aicos2 T ft A,cos(2 T ft+0)
Frequency :
—~<— selective ‘Bgr(rj]gdulatorqA” Intput Output
network @ signal|  ppase | Loop fiter [Signal
comparator G(f)
[4,l4i
Linear
RoF---5 c d(A4,|4; VCO
/ }Sectlon, slope=a:(T|)
! i

0 4.22: PLLOOOODO
0421: 00000000000 0O0OO

28





